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Division Word Problems

173 Dan hasthirty-five daollars in five dollar bills. Howe mary five dollars bills does
he have 7

23 Tim, Sandy, and Joan have 21 markers all together. Tim has 4 pencils.
If the markers are equally divided, how many will 2ach person get

33 Mancy goes fishing with Jason. They catch 14 trout.
If they equally split up the trout, how may will each one get ?

4% Mancy goes out to lunch with Tirm and M ary. The total bill came to eighteen dollars.
They decided to equally split up the kill, howe much will each person have to pay ¢
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